(5x—=y+3)+Bx+2y-4) =ax+by+cL W, a+b+c2 Zh2?

D -4 ® -2 B 4 @ 6 B 8



Y27} 4m 0|3 A|27F 3m o FALZ
Zhee x i T, ARE ym T 5
stot, olnf Wl HALZEE 9] HolE § m?

e 2w, 5 9] ghe Fatolet.

=
2l

S ER
3%

_--4m- . _




2
® —x2+5x

4

@ ——x*+x
5

® -x*+x

2
@—5x2+4x
—y2 1 =
@ —x + X



2% — {~y(y - 4) +4} 5 73] & Aol 2 42| A4S 4,1 2
G| A4S b, 4TS c 2B W, atb-c o LS Fo}ola

YR
ct



Fod=t,

(6x%y? — 4xy? + 3x%y — 5xy) + xy
S

:I]_

5.



6.

x=2,y=-3L ] 2x+5y-(3y-3x) E A

D =8 ® -4 3 1 @ 2



7.

y=2x-324 ], -7x+2y+2 = x o] T3

@O -3x+4

@ —-3x—4

@ 3x+4

B -3x—-3



19

©
=

F Ao Lehfiofet.

Zol7t 16 9 Bom o

Exo

8.




D 3x-2y @ x-y ® x-Ty

@ 2x -3y ® x+5y



10. 2y-[x+y-{2x— (5x+3y)}] E tHa]

® -5x-2y @ —4x-2y

@ 2x -5y ® 4x+ 3y



11. of® 2of —2x% 4 3x + 12 wjojoF T AS F& 0}04 HReY 4x2 +
2x + 3°] Tt} 2Ht2 A ALkt Al 5

@ 8x2—-4x+1 @ 8x2+3x+1 @ 4x2-2x-1

@ 4x2 +3x4+4 ® 6x2-2x—14



8x%y — 6xy?  6x%y — 12xy?

12. £ S| shH?

2xy —3xy

D x+y @ 2x+y @ x+2y

@ 2x+ 2y ® 2x+ 3y



13.

3x(x=5) +4x(1 - 3x) =ax®> + bx+c ¥

D 0 ® =11 B —-20



14. o5 J93 Zo] 2| 7R, *ﬂEJ 73‘017} 742} 3b% , a )AL
H17} 274b% + b2 4

® 27a+1 @ 27h+1 @ 9a+1

@ 9p+1 B 27ab +1



15.

xy

D 1 ® 2 3 3

2 2 2
x:—l,y:—2?=_1ff4],xy+ Xy

3
NS e

y

@ 4



2 _o.2 o Tjolar
DY WD o g et
16. x=2, y=-3 4 o o 5

s
=¥



17. 3x+2y=4x-y+2 Y4 o] 8oto] y2 +2xy - 1S y ol T 2o=
YERHH?

@ 3y-3 @ y*+y-3 ® 6y +6y—3

@ Tx24+7x-3 ® TV —4y-1



18. o H7] F 0|24l BE E A Qb

@ 4x2 - b5x
© x(4x-4)+2-4x?
1
@ xj—x
@ (2-4x+3x?) -2(x*-4x+1)

e raet) ()
@(2x +4x-1 1-4x N

@D 170 ® 270 ® 370 @ 4 7} ® 570



6x2—9x_x2—8x—4

19.
3x 2

= ax® + bx+ c A ab - ¢ 9] Fr& F5HH?

D -4 o -2 3 0 @ 2 B 4



20.

T 48t 7= A mpHe e 5 Bo] shadel A ket ge
A7} ol A,

w4 v A& 7tes] shofzt
a-{3b+6a—(a—2b-5)+7}

7Yz op5ak Zol 2 AE o, 4gS HIEA & A2 FE1A
7|22 A=t

@ 24 da+5b+12 © FA: —4a-5b-12

© 84 :3a-b+3 ® €% ! 5a+5b+12

@ WA —da+5p-12

>R
=%



g Ffedel.

_gq

]

0
op

oM

— |

— |

a =

21.

a-[3a—{a—2b—(Ta—4b)}]




- )
22, A=YY p_ -2+l
2 3

UHER Y

Ao, 4A -6B S x, y ol gt Aoz

@® 4x+2y-2 @ 2y-2 @ 4x-2y+2

@ —x+4y+3 ® x-4y+3



23.

4709 &= a, b, ¢, doll A5t 715 | | &

qtet.
’x+2y—3 —12 o9
y—x+1 3
® x-=y-3 @x—iy—Q
@ —x+§y ® —x+gy

a

b

J =ad - bcE A9



24. F =AM (1 31) 5 (2, y2) Ol HOFET (a1, y1) X (2, y2) = X1 +

X1y2 + y1xo + y1y2 2 A ek o] W, (2x, y) x (—y, 3x) S 7o
sfei?

@ —6)62 + 2)Cy —y2 @ —6)62 +xy+ 3)72

® 2x% — xy—y? @ 6x2 + xy —)?

® 622 - xy + 3y2



26, x+1=l oyt =19 or ol @ Tobelct

S EER
-



